
■ 次の四角にあてはまる整数を答えましょう。

①
9

5
時間 ＝ 分

②
17

15
分 ＝ 秒

③
13

10
時間 ＝ 分

④
1

2
分 ＝ 秒

⑤
1

3
分 ＝ 秒

⑥
7

12
時間 ＝ 分

⑦
43

30
時間 ＝ 分

⑧
11

6
分 ＝ 秒

⑨
7

20
分 ＝ 秒

⑩
7

4
時間 ＝ 分

⑪
3

5
分 ＝ 秒

⑫
11

30
時間 ＝ 分

⑬
1

12
時間 ＝ 分

⑭
3

2
分 ＝ 秒

⑮
2

15
時間 ＝ 分

⑯
4

3
分 ＝ 秒

⑰
7

6
時間 ＝ 分

⑱
5

4
分 ＝ 秒

⑲
33

20
分 ＝ 秒

⑳
11

10
時間 ＝ 分

㉑
1

4
時間 ＝ 分
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■ 次の四角にあてはまる整数を答えましょう。

①
9

5
時間 ＝ 分108

9

5
× 60

1

12

②
17

15
分 ＝ 秒68

17

15
× 60

1

4

③
13

10
時間 ＝ 分78

13

10
× 60

1

6

④
1

2
分 ＝ 秒30

1

2
× 60

1

30

⑤
1

3
分 ＝ 秒20

1

3
× 60

1

20

⑥
7

12
時間 ＝ 分35

7

12
× 60

1

5

⑦
43

30
時間 ＝ 分86

43

30
× 60

1

2

⑧
11

6
分 ＝ 秒110

11

6
× 60

1

10

⑨
7

20
分 ＝ 秒21

7

20
× 60

1

3

⑩
7

4
時間 ＝ 分105

7

4
× 60

1

15

⑪
3

5
分 ＝ 秒36

3

5
× 60

1

12

⑫
11

30
時間 ＝ 分22

11

30
× 60

1

2

⑬
1

12
時間 ＝ 分5

1

12
× 60

1

5

⑭
3

2
分 ＝ 秒90

3

2
× 60

1

30

⑮
2

15
時間 ＝ 分8

2

15
× 60

1

4

⑯
4

3
分 ＝ 秒80

4

3
× 60

1

20

⑰
7

6
時間 ＝ 分70

7

6
× 60

1

10

⑱
5

4
分 ＝ 秒75

5

4
× 60

1

15

⑲
33

20
分 ＝ 秒99

33

20
× 60

1

3

⑳
11

10
時間 ＝ 分66

11

10
× 60

1

6

㉑
1

4
時間 ＝ 分15

1

4
× 60

1

15
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